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PART1: Circle your choice of the correct answer. You get: /

i) A score of 4 poinis for each correct answer.

ii) Zero points for each wrong answer no answetr, or multiple answer .

iv) If you strongly feel that the answer is missing, write your finding in the space next to option E.
If your answer is correct, you secure a full mark of 4.
REMARK: Some fractional answers are rounded to the recorded number of decimal places.

e Determine the coefficient X in the trinomial expansion:

A -42700 B 25 (© -67200 D 110 Eeverrerenns \/

e  One four sided die is cast three times. Find the probability that the sum of the three outcomes is
5, given that at least two of the dice turned up 1 each?
@ 211 B 3/11 C 310 D 1/4  E—

. .. 013 if x=1 .
s The p.m.f. of a random variable, X, is given as: flx)= . Find E(X).

cx? if x=2,3,4
A 3.1 ®) 2.5 C 42 D 118 Evveereene /V

o A deck of cards is randomly arranged in a left to right row. Find the probability that as you go
from left to right, you will meet an ace before any red face card.(%..\

A 3/4 B 23 ©) 03 w P



Fach of four Boxes (I, II, 111, IV) contains five balls respectively bearing the numbers 1, 2, 3.4,
and5. One ball is randomly selected from each box. Find the probability that there will be at least

one ball bearing an even digit. _ :
A 03250 B 0.5780 @ 0.8704 D 0.4125 E..... L/

A number, X, is randomly selected from the real number set [1, 5].Let A be the event that x
belongs to the interval [1.8, 3.5] , B be the event that x>3, and C the event that X is an even
digit. Find PLAUB U C).
@A 0425 B 0.8 C 04 D 0.325

In a state lottery, five digits are drawn at random, one at a time and with replacement from the
ten digits: 0, 1, 2, 3, ...,9. If the drawn digits match your five selected digits in any order, then
you are a winner. Find the probability that you win if you have selected 5, 5, 2, 2, and 0.

A 0.0005 B 0.0012 C 0.0004 ©)0.0003 jE—— \/

A code of six characters has three starting letters that are distinct letters of the alphabet. Its three
finishing letters should be different from the starting letters, but may contain repetitions.

Then the number of different codes are:.... ’
@ 189805200 B 832500 C 4578000  D41225000.  Eo...je.d

How many passwords can you form using an arrangement of four A’s, five B’s, and six C’s , 50
that all the A’s are before all the C’s? o .
A 1225 = B2850 C 3003 (D) 5005 Eoveeennenss

s

Given; p=-2, o®=4 and E(X’)=6. .Find E[(X - u)’].
A 110 ® 38 C 42 D 25




PART II:Write down the complete solution for the following questions:

1.(4x5=20 Points)The p.m.f. of a discrete random variable, X, is given as:

F(x)= gcy; = B

a) Show that c=6.
gl)= 5:
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¢) Calculate E(X).
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2.(5x6=30 Points)A box contains 3 four-sided , 2 six-sided and 5 eight sided dice.

a) One die is randomly taken from the box and is cast. What is the probability that the cast die
shows 17
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b) One die is randomly taken from the box and is cast. If the die shows 1, what i 1s he probability
that it was six-sided?

0 (exxsam] ) = e(eon) _ Brge

) The five eight-sided dice are cast. What is the probability that there will be a full house?
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d) If all the ten dice are cast, what is the probability that the sum is 117
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e) One die is randomly selected from the box. You are offered as many dollars as the number of
sides on the die. The price per trial of this game icstsetg‘g $6.25.BrieflyComment on the

fairness of this price? . ol AR N W) QL -sack
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f) (BONAUMS OF 5 OR NONE)One die is randomly selected from the box’ You are offered as
many dollars as the number on the die. What is the expected value of this game?
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